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The mwn should teach us ‘“if someone knows the essence of
naw”, but forgot that today is naw, he is 7oX%» %oX 2»1 and
certainly in this case where he knew that today was naw but
forgot that the(se) maRon are forbidden.

OVERVIEW
Our mawn states; that one who knows that today is naw and did many max?»
(not knowing that they are prohibited) on many (consecutive) 2°naw he is
217 a DXV 127p for each 719X%M. X271 in NIN°1> 'on infers from the fact that the
mwn here states that he is 2°11 (only) for each 77987n, but does not say that he
is 21 for each 7198%n for each naw, that proves that our Xin maintains that
7297 MN2w2 2w NN MARDA DAY is 271 only once for each 71897, regardless
on how many 2°naw he repeated doing this 7oX77.
Our X3 here, at this point, asks that this ruling of 7oX%1 75X 211 should be
taught in the case of naw nxw and we will certainly know it by nax%7 naw.
mooin will ask that even though it is true that we will know NMaX%n naw is
TOROn 9IR 27n, but if the mwn would state this 17 by naw naww, then
according to X271 we will assume that nNaw N is not N2W 22X 2°7, since the
mawn omits this clause of naw %o8 2»n. However it is illogical to maintain
that Naw NxawW is not 2w 22X 21 [and also, as the X3 previously taught us,
that if oW 710271 7°077 is N2w 9K 2°°1, then certainly NAWw QAW MOW is 79K 21
naw].

— (3,70 97 R 199N P99 9102 MN992 9INT NI PNYY 139397 NN
This statement is astounding for the >''; according to '®27 who says in
N5 noon at the end of 1% Y%K P95:

— DAY NAY YIN 29NN XY MINDN NNYIY NAY P11ay
that in a case where he knew it was naw, but was unaware that certain
MR are forbidden, and he did these N1OX?7» on consecutive 2°naw, without
becoming aware that they are 10X he is not 271% a nxvn 127 for each X7

for each naw, but rather he is 21 only one 12p for each different 7oX%» that he did,
regardless of on how many 2°naw he repeated this 7oR97.

"In N> 'on the X073 is 727. See also next w"N "7 '01n, where '010 is also 7727 07
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and X211 infers this abovementioned ruling from our /w? here in ndon
Naw, since our 7w states that 7297 NNawa 17207 MARDM WYY DA RIW ¥y,
which (according to the X1p0n) is the identical case of X237, i.e. DAY PAY NTT
MIORY7, the 777 is, as the mwn concludes; ORI 798771 2R 99X 2°°1 but since it

does not state that he is 2n for each 1128%% for each n2w, that proves that he
is only 211 once for each 7128n.

moon will now present the question:
= 997 23592Y 8N NI XN NAY 9P Y1150 935D XIN 7299 235D NPT

and according to X217 who maintains that since the 71wn says only 92X 21
7OX9n, we may infer that he is not naw 75X 21, how can the X713 ask that
the mwn» should teach us the 197 of naw 9psy Y79, which is 1171 N2W DWW
NIORY7, instead of MARHM N Naw 177, but the mw» cannot state it in this
manner, of mentioning naw N3 instead of mentioning NORoM NAW,

— DAY NAVY YIN NAY 9PV YN 29NN NIT ¥YN NN )5 ONY
for if the mwn» would state that MIR?A NIN DAY NAW is 7R 9IR 207, it
would be implicit, according to X237 that one who is naw Py Y77 i.e. DAY

MR NN N2AW is not 21 for each naw, for x27 is the one who infers from this
same 73wn that since it does not say naw 93 Sw 121 2n, therefore it means that he is not
211 for each 2w, but we cannot say this concerning naw naw where certainly he is 21
for each naw since the 31w is in the N2w! Therefore how can the X nx ask that it should
state N2W N2 instead of MoK NAwW, since the miwn states that he is 2°11 (only) for each
7ox; and not for each naw, this ruling is appropriate for MaX?» nawy naw 71, but
certainly not for MaX?7 NI N2W NAW.

mooIn responds:

— DAY NIV Y3 YW NARYM AR YN 29907 HAY 908 Y150 YY) 1599 5917 XM
And the > answered that this is what the X3 meant to ask® that the
mawn should teach us that naw 9Py ¥79977 is 2991 not only for each ;a8%%
but also for each naw’.

mooin offers another explanation to resolve the above question:

% The >"1 will insert a different understanding of the reading in the s'873 question.

3 We would then know that naw naw is nAw 998 21, and we would also know for sure that N1IXA DAY is
TOR?M 9OR 21, Whether we would also assume that nioR?» naw would be naw 738 21 may be
questionable. See following w"217"7 '01n (footnote # 3).
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And the R"2w1 explains that we may understand the question of the X3 as it is
written, without implying — as the *"1 suggested — that the &77) intended for the mwn to
change its text to include naw 95 5w -

— NANYM Y3 HY 29N NAY 9P2Y Y110 NOTHA 2N N ONT
For if the mw» would have explicitly stated: %2 H¥ 291 naw p°p p7197
7987 and not include the clause NawY Naw 95 W -

— DAY Y5 DY NONDNI DO HY 29N NP RN NAY DIN 29N NIT P11 NI
we cannot infer from the omission that he is not 291 for each naw, the
omission being since the ;mw? did not teach us that he is 31 for each
78R for each naw, so that proves that Naw naw is not NAW X 21, because this
really is no proof at all -

— 1Y 199Y RYIIIT NINNY 7598 NY4
For it is not necessary for the /mwn» to teach us that n2w nw is also 2N
for each naw for we understand this from the Rws9 of the mwn
— DAY 9P0¥ ¥ 19V Y3 DAY NAY Y3 By 29NT NV §)Da) 999103 2InpT
where the mwn stated that where he totally forgot about the concept of
naw, nevertheless he is 2% for each na2w, even though it is difficult to
consider him a naw niw, since he is not presently aware that there is a naw
altogether, nevertheless we consider each n2w a separate 710°X and he is 21
for each naw then certainly one who is aware of naw, but forgot that today is
naw, he will certainly be 211 for each naw, for his 733w was about the day of naw and
every N2V is a separate 72w, for he could have reminded himself between the 2°naw when
naw is. Therefore it is not necessary for the mwn to repeat itself, as it will be readily

assumed that N2Ww N is certainly N2aw 958 217 -
$2P¥0 N1

as the X1 previously said that if we were to know that 7w 710291 %377 is 998 270
naw then we will certainly know that naw oyaw now is naw 958 21. However once we
conclude that 2w XW ¥71°7 means, not NIORA NI DAY DAY, but rather D paw NTT
MRy, then we certainly cannot assume that MR NAAWY N2W N7 is NAW 9OK 271, even if
we know that naw naw is naw 9oX 21, because the 2101 stems from the 73w, therefore it
could very well be that naw naw is naw 22X 21, because the 73w is on the naw, however
naw 171 will not be naw a8 21, since there was no 7MW concerning the day of naw.
Therefore if our XIn maintains that N1OXR22 AW Naw N7 is 20 for each naw, he should
have said so explicitly, and since he did not state that n2w 92X 2*n, then X217 presumes
that he is not naw %58 2>°11, but only once for each 7ox77.
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SUMMARY

mooIn offers two interpretations how we can understand the s'®7723 question
that the mwn should teach us that Naw N2 is 7oK1 9K 21, and yet not be
concerned, that we would interpret this to mean that he is not naw 92K 2.
The explanation of the > is simply that when the X723 questioned that the
mwn should teach us the 17 of Naw nNaW it meant that the 71wn should also
read that he is naw 92 W 79891 9oR 27, there will therefore not be any
margin of error.

The X"awn, however maintains that the X3 did not intend that the [iwn
should be reworded to include naw 95 W, because in the case of Naw naw
there is no doubt that he is naw o8 21, for we would derive it from the
Xw1, which states that 72w 710271 7277 is Naw 25K 21, and certainly naw naw
will be naw o8 211 for that is his 72w. Only in a case of naw N7 does X217
maintain that if the 71wn omits the naw 95X 21°1, then we can infer, that 7177
Naw is not NAW oK 2°m, if the 7Iwn omits the clause Naw $o8 271, since there
was no N2w naw.

THINKING IT OVER
What are the points of contention (and agreement) between the °"9 and the
X"aw9?
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